Problem # 2. Let us see where do the basis vectors go when we apply
the transformation:
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Hence the transformation is the rotation through an angle of 45° clock-
wise followed by the dilation by a factor of v/2. From this, we deduce
that the transformation is invertible and that the inverse transformation
is the rotation through an angle of 45° counterclockwise followed by the
scaling by a factor of 1/4/2. We compute the inverse matrix
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Answer: a) The transformation is the rotation through an angle of 45°
clockwise followed by the dilation by a factor of v/2. b) The transfor-
mation is invertible, the inverse transformation is the rotation through
an angle of 45° counterclockwise followed by the scaling by a factor of

1/4/2. The matrix if the inverse transformation is Hﬁ _11/22} :



